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where with n subintervals each width h,so that h = P—;—a

a)
) [ feodx = Hf@) + 2f (50) + (b))
i) [ fCdx == 2 f(@) + 2f () + 2f () + 2f Cxa) + F(B)
note f(a) = f(xo) and f(b) = f(xs)
b)
) [ fOdx= 2 f(@) + 4f (S52) + f(B)} or
[y Fydx = =2 f(a) + 4f (“52) + F(b)}
i) [y FOOdx = T () + 4f () + 2f () + 4F (x3) + £ (xa))
a)

) fyVE—xTdx=2[2+2%xV3+0] =2732

ii) fo\/4—x2dx§—§-[2+2x$+2x\/§+2xg+0]=2_996
b) f, Va—x? dx—lnrz—n=314159
x100—46%

c) percentage error-
d)
2 1 2
i) fy f@)dx = S(1+4x2+5) =4
1

v) [ fOdr= H(1+ 4x125+2X2+4X325+5)=4
e) J7 fOodx = 3(0+ 4 X 0.693 +2 X 1.099 + 4 X 1.386 + 1.609)=4.041
) V=mn[y?dx = 1;-(1 X 0 + 4 X 0.6932+2x 1.0992+4x 1.3862 + 1.069?%)

n is one less than m

2
jz"‘dxg 2@ +2x 271 +27%)=1.125

Exact value= IZ *dx=|— E =1.082

‘“’ix100—397%

percentage error-



